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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

-June, 2018 

LIFE SCIENCE 

LSE-01 : CELL BIOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question no. 1 is compulsory. Attempt any 

four questions from questions no. 2 to 6. Answer 

five questions in all. 

1. (a) Match the terms given under Column I 
with those given under Column II : 	4x1.4 

Column I 	 Column II 

(i) a-helix 	A. Histone 
octamer 

(ii) Nucleosome 	B. Secondary 
structure of 
protein 

(iii) Mitochondria 	C. NOR 

(iv) Nucleolus 

	

	D. Semi-autonomous 
organelle 
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(b) Indicate whether the following statements 

are True or False : 	 3x1=3 

(i) Nucleotides are made up of pentose 

sugars and nitrogenous bases only 

(ii) Plastids are respiratory organelles of 

plant cell. 

(iii) Function of Smooth Endoplasmic 

Reticulum (SER) is detoxification of 

drugs. 

(c) State the following in one or two 

sentences : 	 3x1=3 

(i) Cofactors 

(ii) Cytoskeleton 

(iii) Active transport 
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2. Differentiate between any two of the 

following : 	 2x5.10 

(a) Prophase of Meiosis-I and Prophase of 

Mitosis 

(b) Scanning and Transmission Electron 

Microscopy 

(c) Endocytosis and Exocytosis 

3. (a) Describe the molecular organisation of cell 

membrane with the support of diagrams. 

(b) Explain the role of cyclic AMP (cAMP) as 

secondary messenger. 

4. (a) Discuss the factors affecting the rate of 

enzyme activity. 

(b) Describe the different types of RNA and 

their functions. 	 5 

5. Describe the various types of connective tissues 

in animals with the help of diagrams. 	 10 
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6. Write short notes on any two of the 

following : 	 2x5=10 

(a) Cell Cycle 

(b) Oxidative Phosphorylation 

(c) Replication Fork 
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